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TP NC B T R, R AR A SO R R VAT
(F % RRIF N IESE

2 1t T2 % B2 (inferential comprehension level ) : i
FARPE S EA SRR K, AT BT A X LE
& IR RIBFE YT NFRIERA R R R,
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1.8%i%(skimming), FERE T XEKE,
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) ngﬁﬁ(maih idea)
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MAITEARMER, AETE, HEEaMEREN, &
ERREER, UMt BERXEH, EI, #uxKE
—EEBENXWE S FHNEEBELENT L EEBE R
FMBREA SO, BT REEEBE AR EEX.

1. The main idea of the passage is. . .

2. A suitable title for this passage is. . .

3. The purpose of this passage is. . .

4.The best summary of this passage is. . .

5. What is the main idea of the passége?

6. With what topic is the passage primarily concerned?

B R AT

In the past thirty years many social changes have

taken place in Britain. The greatest of these have probably
been in the economic lives of women.

The changes have been significant, but, because
tradition and prejudice can still handicap women in their
work careers and personal lives, major legislation to help
promote equality of opportunity and pay was passed during
1970s.

At the heart of women’s changed role in society has
been the rise in the number of women at work, particularly
married women. As technology and society permit highly
effective and generally acceptable methods of family plan-
ning there has been a decline in family size. Women as a
result involving in child-rearing for a much shorter time
and related to this, there has been a rapid increase in the
number of women with young children who return to
work when the children are old enough not to need
constant care and attention.

4



RPN S STINE IS O, S0 e a4, AL 2, 0 o I X LR R R R CL el - 3. 3

Since 1951 the proportion of married women who
work has grown from just over a fifth to a half. Compared
with their counterpart elsewhere on the Continent, Britain
women comprise a relatively high proportion of work-force,
about two-fifths, but on average they work fewer hours,
about 31 a week. There is still a significant difference be-
tween women’s average earnings and men’s, but the equal
pay legislation which came into force at the end of 1975
appears to have helped to narrow the gap between
women’s and men’s basic rates.

As more and more women joined the work-force in
the 1960s and early 1970s there was an increase in the
collective incomes of women as a whole and a major change
in the economic role of large numbers of housewives.
Families have come to rely on married women’s earnings as
an essential part of their income rather than as “pocket
money” . At the same time social roles within the family

are more likely to be shared, exchanged or altered.
TEM-4(1996)

The general idea of this passage is about
A. social trends in contemporary Britain.
B. changes in women’s economic status.
C. women’s role within the family.

D. equal opportunity and pay in Britain.

ERERERER

S ZER T EERER., A ESEA A
7E % — Bt “The greatest of these have probably been in the
economic lives of women.”, X4~ F H 7] LA & H 4= 3C
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- BEXRAE, Tk, fE#F5H “At the heart of women’s
changed role in society has been the rise in the number of

" women at work. ” B 5% 2 B 13 4 f 60 7 (b iy B BRI I
T NEREIE N, BIRRFEES L AREMEBIA R, R,
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< 35T @ %Y B (specific details)

H ST 4R 5 B S R R K xS 8 R g B — A R a3
LS MR, TERECERENEEM WEHE
RN, RN RKIEL L TR XEAGRENE S, 1k
KB AE PSRBT B R E S . AR, CEFH
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T WS R S R, B AR R R W hsE A — R
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I 2 30 < B B — 30 i JRUDU), B G 30 08 3 ] 3R,
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RSN EZ WA LT . XEEHEFEREAUT
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1. All of the following are true EXCEPT. ..

2. The author does not mention. . .

3. Which of the following is mentioned as. . .

4. According to the passage, which of the following

£ 6
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statement is NOT true?
5. Which of the following is referred to by the author as. . .
6. What does the passage say about?

B REAT

University teaching in the United Kingdom is very

different at both undergraduate and graduate levels from
that of many overseas countries.

An undergraduate course consists of a series of lectures,
seminars, and tutorials and in science and engineering, labora-
tory classes, which in total account for about fifteen hours
per week. Arts students may well find that their official
contact with teachers is less than this average, while sci-
ence and enginecring students may expect to be timetabled
for up 1o 20 hours per week. Students studying for a par-
ticular degree will take a series of lecture courses which
run in parallel at a fixed time in each week and may last
one academic term or the whole year. Associated with
each lecture course are seminars, tutorials and laboratory
classes which draw upon, analyze, illustrate or amplify the
topics presented in the lectures. Lecture classes can vary in
size from 20 to 200 although larger sized lectures tend to
decrease as students progress into the second and third
year and more options become available. Seminars and
tutorials are on the whole much smaller than lecture classes
and in some departments can be on a one-to-one basis
(that is, one member of staff to one student). Students
are normally expected to prepare work in advance for sem-
inars and tutorials and this can take the form of researching a
topic for discussion, by writing essays or by solving
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problems. Lectures, seminars and tutorials are all one
hour in length, whilst laboratory classes usually last either
2 or 3 hours. Much emphasis is put on how to spend as
much time if not more studying by themselves as being
taught. In the UK it is still common for people to say that
they are “reading” for a degree! Each student has a tutor
whom they can consult on any matter whether academic or
personal. Although the tutor will help, motivation for study
is expected to come from the student. TEM-4(1997)

Which of the following is the length of lectures or seminars

or tutorials?

A.1 hour B. 2 hours C. 3 hours D.1.5 hours

BEREERERE

S X EUR T LR, ABIR G R A
BB ] — R BB K7 T Iegn R, AU E#EA X
RN R, SXEBNNYATESCHRE—
B%, “Lectures, seminars and tutorials are all one hour in

length.” . &L, I A HIERER

J 1835 P 47 B (vocabulary)

LA PR (A 36 REBIER . EiRS4E . E5
B, ST ORI ], R2Z, PRIRIC R &R Ik
REdAKEME, ENEFRT, FEEE2BI L
AR AR, TS (SR i B R B, 3 x5 iR X SCE Y
ERREM, XRERFEEJRE L TXEM L, EH
TESRHETR (Y BE F7 R0 W7 HE H A YT A o X BER B ATH U
BRI BB TE . AT AR B B S0 R — BEOR
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1.1In line , the word means. . .

2.To which of the following is the word in
line closest in meaning?

3. Which of the following phrases could be substituted
for the phrase in line without

changing the meaning of the sentence?

N E B

On January 10, 1962, an enormous piece of glacier

broke away and tumbled down the side of a mountain in
Peru. A mere seven minutes later, when cascading ice fi-
nally came to a stop ten miles down the mountain, it had
taken the lives of 4,000 people.

This disaster is one of the most devastating examples
of a very common event: an avalanche of snow or ice. Be-
cause it is extremely cold at very high altitudes, snow
rarely melts. It just keeps piling up higher and higher.
Glaciers are eventually created when the weight of the snow-
is so great that the lower layers are pressed into solid ice.
But most avalanches occur long before this happens. As
snow accumulates on a steep slope, it reaches a critical
point at which the slightest vibration will send it sliding into
the valley below.

Even an avalanche of light power can be dangerous,
but the Peruvian catastrophe was particularly terrible be-
cause it was caused by a heavy layer of ice. It is estimated
that the ice that broke off weighed three million tons. As
it crashed down the steep mountainside like a gigantic

€9



